Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

[Registration No.

Name

Test Venue iON Digital Zone iDZ Tatisilwai
Test Time 1:00 PM - 2:00 PM

Test Date 05/07/2019

Section : General Intelligence

Q.1 39 faehed &1 T+ & Sit IR S1eR-Tg 9 I g Hafdd & HH gERT 318R-Tg Uge JHER-
T 9 @&l 31

KSDO : NPGL : : SBJY : ?
Ans X 1. WYMV
& 2.vzmw

W 3. vymv

5 4. VYNW

Question ID : 98958016784
Status : Answered
Chosen Option : 3

Q.2 39 AE-G T TG & [O1TH & A& I g | Heaifda & 4 Frafofda ses-gm d & oreg
Hefda g

efil : HAR
Ans X" 1 fihe: IUEHROT
5 2 TR R ur
25 3. 8w Rwweht
o 4. e : wERe

Question ID : 98958016788
Status : Answered
Chosen Option : 4

Q.3 fFr=fofEa e F 9@ aam & fog s e 3@t Rigl @t gw-gaR @ agemn gm?

615 -377 +29x 15+ 308 = 502
Ans  of 1 4o

x2.+3ﬁ?x
x3.+3ﬂ?+
x4,x3-ﬁ?+

Question ID : 98958016793
Status : Not Answered
Chosen Option : --

Q.4 I HEIT-TIH 1 TI1 o o1 &l HE&AT] 341 avg & Hafda & o foh ol ser-gm
) T=d |eifdd g1

25: 600
Ans & 1.16:256

o 2.18:306




& 3.14:210
&5 4.20:420

Question ID : 98958016794
Status : Answered
Chosen Option : 2

Q.5 A+Bamrarfg'Aurd g Barr
A-Bar3rfg'AadrgBhr’
AxBaT3rfg Aufy @ Benr
A+Barafg'Aderg Bar

R J+R+ T xK-Z§ af K 9 ver Safda g J 2
Ans X‘l'ag:[
of 2.7
K 3
P

Question ID : 98958016787
Status : Answered
Chosen Option: 2

Q.6 Ueh sl ST &, ADVOCATE it QXFCCRYA & =q & forar Sirar g1 39 a1 & DIALOGUE Rt
&9 forar smem?

Ans X" 1 NCFKCSEN
5 2. MCKFCSEM
o 3. NCKFCSEM

5 4. NCKFMESC

Question ID : 98958016782
Status : Answered
Chosen Option : 3

Q.7 iR A=A &1 Ty 'afgereit’ @ g, 3t avg 'arefafehear &1 day’ 'd2l
Ans X’LW

X 2. s

Jaaa’f

X 4 gest

Question ID : 98958016785
Status : Answered
Chosen Option : 3

Q.8 afX FASHION &Y 6118965 & & & shieag fhaT ITa &, &t LASTING &) 9 shteasg fwan
Srgm?

Ans o 13112057
25 2.3112947
5 3.3113947
2 4.2112857

Question ID : 98958016783
Status : Answered
Chosen Option : 1

Q.9




3T AP FT TTF FL A A & TS HpI g H IS T T AT

Ans

Question ID : 98958016800
Status : Answered
Chosen Option : 4

Q.10 &t &= Ry g &, 563 are = fsemd |, 11 oz 11l Rg 71q &1 =l o6t o A gu, et & & e
AR U= F1a a2t @ oreT g, ag fAvfa dAifSig o san/@ fAsed wust o arfdhes 9 @ srgeRon
AT /A gl

HYA:
FO T AR &1
ft 73 SATER &1

fArsen:

. S TR TR I
Il. 5 HER T3 €1
Ill. 8 IR SAFER &1

Ans X" 1 et e | o Il SRR &% &1
25 2. are P 11 R 11l SgeRoT a%a &1
25 3. 71 s |70 11 SgERoT el 21
of 4 Tl e argerRor R &1

Question ID : 98958016791
Status : Answered
Chosen Option: 1

Q.11 IH =TT T T & oI Gy I aRe A Haifda § o1 o Frafaf@a ageaa fir d=ang
Hefda g

(16, 24, 88)
Ans X' 1.(12,18,64)
25 2.(20,30,100)
o 3.(14,21,77)
25 4.(18,27,98)

Question ID : 98958016796
Status : Answered
Chosen Option : 3




Q.12 f=fafae sigen d wia- e ust Rig (?7) & T o smgEfi?
20, 10, 10, 15, 30,2
Ans  of 175
252,90
53,60
X 4.45

Question ID : 98958016797
Status : Answered
Chosen Option : 3

Q13 3pR T U Fr A F I AR @ I O Ry v R & g o0 oy & w3 F#1H
54rgBG9Q6

™ x.0peHdgihd
x-9060831h<
x:90PeDdgihS
v:oa0Deod3zgi1hd

Question ID : 98958016804
Status : Answered
Chosen Option : 4

Q14 =7 famen @1 T FY o Fevew daAkT & el = g i wgEfy 58 B

Ans

3
=
A

K2

Question ID : 98958016802
Status : Answered
Chosen Option : 3

Q.15 Q& 31erl & HaYSTT ot 7o e Sit foh & 7 31eR sjaen & R Turl J sl w0 @ @ 5w




Ans

SjRaAT I RT HAMI
g_km_skm_gkm_skmggk_ps_m
X‘I.gpgpkm
(nggpmk
X3.gspgkm
X4.gpgskm

Question ID : 98958016786

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q16 e e F AT e sy o T e s e s T mar &

RN T W Neel ofic # #ise W e FE RS &em

Ans -
D;
: 1
x|
1
SH.
p 1
—
-
| [] 1
s 1
Xop=d !
. 1
] ]
.@J—--J
— 1
L] 1
D
<
[ ]
e o ENEENEEE
Question ID : 98958016803
Status - Not Attempted and
" Marked For Review
Chosen Option : --
Q.17 fafafad ar aEl & @ i e v RfYa a8 @ van A7 & iR Uah 1ol §1 39 31e7T 2Usg &t
g
Ans X1 @R
W 2 T
25 3. wiremrd e
p R rx

Question ID : 98958016790
Status : Answered
Chosen Option: 2

Q.18




= eafral A, B 3R C & urg sremr-erem afA €1 afe ¢, AR 11 Adr 8, 9 C & U9 B & SRTeR
IfA gt B 3R C & urd et AaT R 2111 €1 C & Ut fohast w0 82

Ans  of' 1 50
& 2.70
53,60
5 465

Question ID : 98958016792
Status : Answered
Chosen Option: 1

Q19 37 37 3@ & 94 FL A TEAAGT T H 99 & GO F FEY FeoT g B

Ans

Question ID : 98958016805
Status : Answered
Chosen Option : 3

Q.20 F=fafed ar srer-uwEl § @ i srer-vig ga AR 8% 9 g 99 & ok g srem 1359
ST S1ER-THE ol gFgI
Ans  of 1 CrM
25 2.KNQT
75 3.5vYB
2 4.Psvy

Question ID : 98958016789
Status : Answered
Chosen Option : 1

Q.21 we € amy & 2 -3 Rt # AR g T &, e ©F e W1 ¥ 6 FEA s 2
'2' HEAT dTel Theleh o HHA alell G&AT A HiferTl

98

X2 4
X3 2

Ans




Question ID :
Status :

Chosen Option :

98958016799

Not Attempted and
Marked For Review

Q.22 IH HHTIT T T o (oI HETQ I g 9 Hafdd & o1 fo Frafaf@a ageaa 6 d=ang

Ans

wefa g

(56, 38, 96)
5 1.(12,18,50)
25 2.(10,20, 40)
o 3.(16,14, 40)
25 4.(28, 48, 86)

Question ID :
Status :

Chosen Option :

98958016795

Not Attempted and
Marked For Review

Q.23 fA=fefaa IR S d 4 i de v A ade @ T S & iR Teh o1 81 39 31

Ans

T g9+ RifSwl
Ko1.277
2,233
W 3.253
& 4.239

Question ID :
Status :
Chosen Option :

98958016798
Answered
3

0 & i st af Rt Pt g 7

Ans

X1 28
v 2 27
X3 25
X 4 26

Question ID :

Status :

Chosen Option :

98958016801

Not Attempted and
Marked For Review

Q.25 fa=faf@a nfafafal & saeaeur ol aifher ik T e & g21fa & v 98 faeea @1 ==@=

il

1. STEE U9 WRAT
2. dep @11 GieAT

3. Tk SHITAST STHT heT




4. TTET &g AT
5. 89 ST AT 3R Repre=

Ans X 1.1,3,2,4,5
V213254
503.1,3,524
5 4.2,54,1,3

Question ID : 98958016781
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 af 1915 & dugw & «r< gif$m grr ot gfaror snfiert & grgely dareit A 3 abre &

forg ‘der-u-fde & gwnfaa foran mar ami
Ans X' 1 ggme STl
5 2. g g e
of 3. mETe i
2 4. aret TmeR e

Question ID : 98958016467
Status : Answered
Chosen Option : 3

Q.2 #2019 ao, Frafafea 7 @ gl fi e afeaifar 9 Rraa ga@ sifes i @9 gafde sfia

&
Ans x134-|—;;3p1-|;ﬁ
of 2 IR R
X 3. de o
25 4. zam des

Question ID : 98958016473
Status : Answered
Chosen Option : 2

Q.3 Fafaf@a d & 15 i diway o1 sreast = u1/4?
Ans  of 1 g

X 2. g e

X 3. drgEm

K 4.

Question ID : 98958016471
Status : Answered
Chosen Option: 1

Q.4 aAfYer TR W avf 2019 & A1k i w=oar e e 7=TaT TIT?
Ans X1 125

of 2 287

25 3. 1081
25 412 st

Question ID : 98958016476

Not Attempted and
Marked For Review

Chosen Option : --

Status :




L

Q.5 FEfaf@a d @ Fasemn & are § YR &1 RIF-91 TSI 21 ad sier g2

Ans

1.

X 2. s
X 3. S
W 4 e

Question ID :
Status :

Chosen Option :

98958016464

Not Attempted and
Marked For Review

Q.6 F=faf@a d | wi9-a1 &9 YRA &1 9o a7 Haar 89 8?

Ans

1z
X 2. 3w
X 3.3R
25 4. arerRR

Question ID :
Status :

Chosen Option :

98958016463

Not Attempted and
Marked For Review

Q.7 WRa # oAl 7 gfE F g Teert il it 7gms W= &t srgafa 37 & fag A=faf@a §

Ans

G fergrent IuaT forar SiTaT 87
X 1. gifafe w@fifd s (SLR)
\fz. IUIAT G Tk (CPI)

P

p R

Question ID :
Status :

Chosen Option :

98958016456

Not Attempted and
Marked For Review

Q.8 #2019 aw, FrafafEa 7 & fFw 321 7 geul H gTh ufaaifar & waffde siwiftes w@of e

Ans

sfia &2

P R

W 2 s=a
X 3. urfhe
< 4. s

Question ID :
Status :

Chosen Option :

98958016474

Not Attempted and
Marked For Review

Q.9 uRdg d@fu= & T T g, ATES HTRACT T AT AEIg & hROT 0 511

Ans

STt 9 g1
251, argede 347
X 2. argese 350
o 3. g 352
25 4. IR 269

Question ID :

98958016472




Status : Answered
Chosen Option : 3

Q.10 oRig e Aug & s FE &
Ans &1 s

W 2w

25 3. aremmE

p R

Question ID : 98958016454
Status : Answered
Chosen Option: 2

Q.11 fFA=fafaa & 9 fFa 7 2019 d F9ER y¥RT A1 TTfAERoT (NBSA) & 3ieget & wu d g
forar war ur?

Ans  of 1 SfRTTH B
X 2 SRE @y
X 3. SR srmest AR e

X 4. oifRw wem dhigr

Question ID : 98958016469

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.12 f=faf@a & @ frem 12019 it o= st R gafde A afgen gare Rama sfar?
Ans  off 1 Troiht sitara

X 2. e AT
X 3. qefi ieffer
X 4. G e

Question ID : 98958016475
Status : Answered
Chosen Option: 1

Q.13 fA=fafaa & @ w9-a1 g X-feias, RafQa fRgsitdk @ st hame wiear gt taez VI
(FVII) &t et & hROT glaT &, STt d*MTd g1 JehdT & AT Tgel ITRNABR T IUH gl Tehdl 82

Ans  of 1 dftsferar A
X 2 wgf
25 3. aediuet HrgeET
X 4. d s

Question ID : 98958016460

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.14 Pr=fafRa d @ #F-a1 yra § 9@ a1 78 gu @2
Ans (1';41\—@1@5[

X 2058w

p R

& 4 ERE

Question ID : 98958016466




Status : Answered
Chosen Option: 1

Q.15 fr=faf@a 7 @ fRrad gR1 aoa w3, fRR gt Fmfor ofik s waf® srfames ageag w
I S wiferdY' 2ftfe e arftfers uerter s e g2

Ans X' 1 9 giferd! g (IS)
o 2. ¥ wif@d we (CS0)
25 3. g e wdaror de (NSSO)
X 4. Rt Rord & (RBI)

Question ID : 98958016457
Status : Answered
Chosen Option: 2

Q.16 f=faf@a A @ frae! v 01 "fAsh Aead & wu & aRafa forar mar @ e $emie vieifdh
3R ATfSTAeR STHAR WOTIE! 1 U, sgfeierarst, fagharsti, wmiieRy, urgel ar o=a Iedl &
1Y TG 6 AT a1 STURRET & WRI Y TR GG 9 § HIET et & g SuanT
forar SITaT 22

Ans Xyaﬁzmqﬁmﬂza—cﬁ
W 2 T
3.4
K 4 aedase s

Question ID : 98958016462

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 af 2019 #, ThIELTT A U 'TeS gaRulé ad SRt fohar 8, e 2019 & g gfar & adsis
100 garé Irgl @t ITh Sgar & IFAR W1 & w1 Ry Mg feredt & @ 39 gard a2 Y uga™
Hiforg foah Wehmr T &g 81

Ans X" 1 goufy Riarsh weRrs sieRig gard orgr - 57 af
25 2. dfe=r e sieRfga gad argr - 60 af
X 3. Fmitgr siakiga gard argr - 75 ai
o 4. ofta mieh gezree sieRfd g orgr - 66 o

Question ID : 98958016478

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 fA=faf@a & @ wa-a1 e e ifaRfén Rew a8 &2
Ans X' 1 gfe
K 2. fae

W 3@

p RCEC

Question ID : 98958016461
Status : Answered
Chosen Option : 4

Q.19 Prefafla & & wfar foft #2019 w1 gftresr qeeare R sftar am?
Ans x 1. dgg @ dR

W 2 wRe i

X 3. e ufest




X 4.t Rt

Question ID : 98958016470
Status : Answered
Chosen Option : 3

Q.20 HRIrei RIS, ¢ Ui St sreget sherd Ziu dAf-a uRER § A 2019 # fohg g ¢&-deemse
AaTse 3% 1 AW AT E?

Ans X 1 fagr e
25 2. = st

25 3. e gdEea
W 4 fs s

Question ID : 98958016459
Status : Answered
Chosen Option : 4

Q.21 fA=fafaa # @ foFa=t 618 CE A gfasf= @t gwram um?
Ans  off 1 qerHRE fdt

X 2. e vum

X 3. R

X 4. gufi

Question ID : 98958016468
Status : Answered
Chosen Option : 1

Q.22 Wt 2019 # fAm=faf@a d & i wrdla doeht &t gRAIfERaR sfege gri Ay f 999 Afds
ot & =u & AT & @7

Ans  of | e
25 2. e e
X 3. Riea &
X 4. 9Ra & gRfdRwe foftes

Question ID : 98958016477

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.23 YRa 6 ugeht guf srafdy areft ‘erht’ e -t of?
Ans X 1 dgmer

25 2. R were

p R

W 4. e e

Question ID : 98958016455
Status : Answered
Chosen Option : 4

Q.24 IY THg T AT TATST Sit GRAAT 3R SRRt ol 31ehT ohat & I e ok g™ &l enhidh avw
3R G 3R ol TfAUTE TR

Ans X' 1 wHes @R
25 2. e AR
25 3. &f@m R




of 4 R

Question ID : 98958016465

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.25 Ra # ufae Wt s e we w=mar sirar 82
Ans X’LSJ:@

X 2. 150

25 3.2 el

o 4 28 wad

Question ID : 98958016458

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : Quantitative Aptitude

1 aEr ¥4 12%%—13%% & Gy x @7 AW BT
Ans x14

v2g

<31

X4 2

Question ID : 98958017167
Status : Not Answered
Chosen Option : --

Q2 2+y’-2 g H UF g T2 +y2 =1 T % Wi 7 TodrEn F e @ S A S
X+y?=c® oI A TH TE TR FA § B b™ —a"c? § T mn,peN & st m, n, p TFE-GHY
FRTyxm=w§ Fm+ntp-3 F AT L

ans o1
X22
X3 -1
K40

Question ID : 98958017171
Status : Not Answered
Chosen Option : --

Q3 wF aABC #, 4B 3t £C & TAefe=w ST & 3E O fig W Mo 1 v 2A=116° §, & 2
BOC & AT &

Ans - X 1.116°
X 2 85°
X 3 74°
v 4 148°

Question ID : 98958017172
Status : Not Answered
Chosen Option : --




Q4 @R gw @ FT TH TEAT 7220x558y2, 88 ¥ frarew ¥ & (5x+5y) F AT gET:

Ans

<110
V215
X3 25
X 4 35

Question ID : 98958017165
Status : Not Answered
Chosen Option : --

R (2x+7)3+ (2x+8)°+ (2x+3)% =
3 (2x+7) (2x+8) (2x+3) &, & x FT AT FT &7

Ans

X2
X2 3
Vs -3
X4 2

Question ID : 98958017169
Status : Not Answered
Chosen Option : --

Q.6 fsrsr ABC #, BC & aT$ AB H1 TS & g7 @ 2 cm & &1 AC & a$ AB # s F 10 om

Ans

i g IR 32 em 1 Bl Fr 796 O g0 H FE (om #) &

X118
X2 4
v':6
X410

Question ID : 98958017173
Status : Not Answered
Chosen Option : --

Q7 ol s 3 30% # i g5, o 30% & F g¥, P 30% #r w g8 wow F e

Ans

St o SRfe (R i @ w8 587
V' 36% Fr FAT
X 2 40% Fr g
X 3 36% Fr g
X 4 40% T FAY

Question ID : 98958017161
Status : Answered
Chosen Option : 1

Q.8




fear T g AW (IR ) O faed Tui, 2013-2014 & 2017-2018, # Sha Sl e @mwo =i
ot 77 (27 #) & HE AR P @ afE g

0132014 01415 50048 201617 201718

ofe e 79t & 2w g s A e (e ) # oaftew wm E
Ans 1. 2325.9
V' 2 2508.8
X 3 22795
X 4 25524

Question ID : 98958017179

Status : Not Answered

Chosen Option : --

Q9 FridAram a5 : 78 W R I 3 W F 00 A Hrgh mwm E g = A
T (km/h ) g

ans X1.100
V2 140
X 3150
X 4120

Question ID : 98958017157

Status : Answered

Chosen Option : 2

Q.10 A B 3k C Fwen 4, 20 3k 60 Rt # Fmhr 7 1 @ W THEA §1 vF Ty TFew FH A O
ST 1w fhce e # R W W £

3
XT 55
3
V233
1
X3- 55

1
?{'4.3E

Ans

Question ID : 98958017156

Status : Answered

Chosen Option : 2

Q11 g FEm? 7 : 5 F wgoa & §1 39 T 94F F 40 FH FE W HGAS 27 © 17 g S ¥ st
F I R T

Ans X 1. 75
X 2 40
X3 25
v 4 B0

Question ID : 98958017163

Status : Answered

Chosen Option : 4




L

Q12 v smedr 2 aEgY Tid BEd & voiw @ HrAa 24158 off| 3EY TR TEg 15% @ W A gmd
FE] F oaa SR @1 W a AT I w9 annEt aieud dea J 8

Ans - X1 12%
v'2 15%
X3 18%
X 4 10%

Question ID : 98958017162
Status : Answered
Chosen Option: 2

Q.13 fezr w7 &= 3M@ (AR I1%) G HeT s, 2013-2014 F 2017-2018, & ey famedr Soeh gamr i
ot a7 (27 #) & HE R P @ o g

20132004 201415 gn.0e 201677 201718

o foew 99 # el iR s w1 3w S w P
Ans X 1.2015-2016

V' 2 2013-2014

X 3 2017-2018

X 4 2014-2015

Question ID : 98958017177
Status : Answered
Chosen Option : 2

Q.14 = szt # sited 3 15 ¥ ¥ 3R 395 Rar F nf@e B e § A sitee 5 W g S
e &1 oy (3t &) &

Ans  of 1. 40
X2 38
X3 36
X 4 35

Question ID : 98958017159
Status : Answered
Chosen Option : 1

Q.15 e ¥ 25% &1 ge | vw Afgen 7 77 AT wiE A qwe A == & B 38 20% &
Fafea g el 3N wF TFER TEF g F A 10% # AR ge e sEe 1324 F apaw R
FA W rad Foa & & (@ #H) 9

Ans X1 750
X 2 650
V'3 600
X 4. 725

Question ID : 98958017160
Status : Answered
Chosen Option : 3




Q.16 3 firr ABC 3R PQR % arawall &1 3 3 : 5 ¥ 3T ofr F=m§ &7 319 5 - 3 §1 gt ABC
AR B[ PQR & 3TuW &1 3599 ¢

Ans X 1.2 : 1
v?29:25
X3 1:1
X425:9

Question ID : 98958017158
Status : Not Answered
Chosen Option : --

Q.17 fer mam € 3@ () o) 9= faca asf, 2013-2014 & 2017-2018, & e e o Zamr e
foral 979 (271 ) & g AR ST F g &

1400

20132014 2001815 api54g 201617 201718

2013-2014, 2015-2016 3T 2017-2018 & SIS Fof AT T Fof AT F FN IS 2

Ans  of'1. 3619 : 3604
X 2 4175 : 4011
X 3. 3604 : 3073
X 4 4011 : 4175

Question ID : 98958017178
Status : Answered
Chosen Option: 1

Q.18
e L
5 5)°5

X |6 £ ¥
s
Ans 13

X E

8

v

64

X3

7
13

X

16

T TR AT g

)

Question ID : 98958017166
Status : Answered
Chosen Option : 4

Q.19 m}(:ﬁ
e XK1 2243
v 2 2242

—2 & arx®*—x"? & A g9




X3 222
X 42243

Question ID : 98958017168
Status : Not Answered
Chosen Option : --

Q.20 ws =3fFa & 25,900,828 & ve TR Wier 3N 5T 26,52,920 F &= Rwn| 56 sua W 364 A
gierera =T (FUHeT 915 & TUTET %) HHET?

Ans X 1. 9.55%
X 2 951%
V2 10.51%
X 4 11.55%

Question ID : 98958017164
Status : Not Answered
Chosen Option : --

Q.21 Rz e g5 3T (AW ) T e Fut, 2013-2014 F 2017-2018, & e Bt s gamr afda
el 98g (ea0 #) ¥ 3w ik T = g g

0132004 201815 5. 201617 201718

forw foem a8 3 Rroer fes a8 & qoren & s AR e & oo S A sfaee oY wEfe gg
Ans 1. 2015-2016

V2. 2014-2015

X 3 2017-2018

X 4.2016-2017

Question ID : 98958017180
Status : Not Answered
Chosen Option : --

922 3R cosx = _?1 and m<x<>" §, ar 4tan?x+ 3cosec’x T AF &

2
Ans X110
X2 4
X3 8
v 16

Question ID : 98958017176
Status : Answered
Chosen Option : 4

Q.23 v= e # frer ABC ¥ 3feT 7= T ¥1 TF AB, BC 3R AC #emsi #1 ®aan P, Q 3 R fagat
IT T99 LT £1 3T BP = 5 ¢cm, CQ = 7 cm 3T AR = 6 cm §, & AABC Fr 9T (cm &) gef

Ans X' 1.37.25
X2 35




X3 375
V' 36

Question ID : 98958017170
Status : Not Answered
Chosen Option : --

Ans x1_ —13
V22
; 2
X 5
; -t
p s

Q2% 3R 6(sec?59° - cot?31°) + 2sin90° — 3tan?56°y tan?34° =2 ¥, A » F AT &

Question ID : 98958017174
Status : Not Answered
Chosen Option : --

Ans

.
v 2
p 3

X

o e ;l,_. S N ™

9% ssec8=4x Mtano =2, (x#0) ¥ A8(x?-L) =AW E:

Question ID : 98958017175
Status : Answered
Chosen Option : 2

Section : English Language

TEMPERATE
Ans  of 1 moderate

x 2. temporary
x 3. tentative

X 4. extreme

Q.1 Select the most appropriate synonym of the given word.

Question ID : 98958016104
Status : Not Answered
Chosen Option : --

Turn a deaf ear

Ans x 1. to make someone deaf
x 2. to pay attention

« 3. to pay no heed

x 4. to listen carefully

Q.2 Select the most appropriate meaning of the given idiom.




Question ID : 98958016108
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate antonym of the given word.

EXCEPTIONAL
Ans ( 1. ordinary

x 2. optional
X 3. rare
x 4. unique

Question ID : 98958016107
Status : Answered
Chosen Option: 1

Q.4 Given below are four jumbled sentences. Out of the given options pick the one that gives

their correct order.

A. Yet, whatever was printed was profound and even inspirational.
B. In pre-independence India there were two kinds of newspapers.
C. The other spoke of the aspirations of the people and pointed out injustice.

D. One set was supportive of the colonial power.
Ans X" 1 BACD

7% 2.DCAB
5 3.ABDC
o 4.BDCA

Question ID : 98958016102
Status : Answered
Chosen Option : 4

Q.5 Fillin the blank with the most appropriate word.

The child made as he was getting late for school.
Ans x 1. hurry

x 2. rapidity
J 3. haste

X 4. swiftness

Question ID : 98958016114
Status : Answered
Chosen Option: 1

Q.6 Select the wrongly spelt word.
Ans X" 1 trivial

J 2. tution
X 3. tyranny
X 4. typical

Question ID : 98958016113
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate word for the group of words.

The state of remaining unmarried
Ans X" 1. monogamy




x 2. polygamy
x 3. feminism

J 4. celibacy

Question ID : 98958016110
Status : Answered
Chosen Option : 4

Q.8 Identify the most appropriate option to substitute the underlined segment. If no substitution
is required, select No substitution.

The manufacturer conformed with the specifications given from the client.

Ans x 1. with the specifications given of
X 2. No substitution
( 3. to the specifications given by

x 4. by the specifications given for

Question ID : 98958016094

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 Select the most appropriate antonym of the given word.
DESPAIR
Ans X" 1 pride
X 2.calm
“ 3. hope
x 4. dearth

Question ID : 98958016106
Status : Answered
Chosen Option : 3

Q.10 Identify the most appropriate option to substitute the underlined segment. If no substitution
is required, select No substitution.

You must not prevent me to do what | want.
Ans X" 1. by doing what | wanted

J 2. from doing what | want
X 3. to do what | am wanting

x 4. No substitution

Question ID : 98958016095
Status : Answered
Chosen Option : 2

Q.11 Fill in the blank with the most appropriate word.

The old man was at the hospital after a long illness.
Ans J 1. recuperating

x 2. relenting
x 3. rejoicing
x 4. relaxing

Question ID : 98958016115
Status : Answered
Chosen Option: 1




Q.12 Select the most appropriate meaning of the given idiom.

Take to task
Ans X" 1. to assign work

x 2.to give an award

X 3. to praise
(4. to rebuke

Question ID : 98958016109
Status : Answered
Chosen Option : 4

Q.13 Identify the segment which contains the grammatical error.

No sooner did the comedian begin his act when the audience roared with laughter.

Ans J 1. when the audience
X 2. roared with laughter
x 3. No sooner did
x 4. the comedian begin

Question ID : 98958016091

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.14 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Yet, it is India that is the home of the malnourished child.

B. Some major ones are lack of food, sanitation and proper healthcare.
C. The reasons for malnutrition among Indian children are many.

D. Millions of rupees have been spent on child care in the country.

Ans X' 1 DCAB

/X 2.CBAD
25 3.ACBD
o 4. DACB

Question ID : 98958016103
Status : Not Answered
Chosen Option : --

Q.15 Identify the segment which contains the grammatical error.

The members of the victorious football team as well as the captain was congratulated.

Ans ( 1. was congratulated
x 2. as well as the captain
x 3. The members of the

X 4. victorious football team

Question ID : 98958016090
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate synonym of the given word.

DEFIANCE
Ans X" 1. deference

x 2. assistance




( 3. resistance

x 4. pretence

Question ID : 98958016105
Status : Answered
Chosen Option : 3

Ans

Q.17 Select the most appropriate word for the group of words.

An office with high salary but no work
X 1. honorary
( 2. sinecure
x 3. autocracy
X 4. bureaucracy

Question ID : 98958016111
Status : Answered
Chosen Option : 2

Q.18 Select the correctly spelt word.

Ans & 1 saprate

x 2. separete

X 3. saperate

J 4. separate

Question ID : 98958016112
Status : Answered
Chosen Option: 3
Q.19 Select the most appropriate indirect form of the given sentence.
He said to the grocer, "What is the price of tomatoes?"

Ans

x 1. He asked the grocer what was the price of tomatoes.
J 2. He asked the grocer what the price of tomatoes was.
X 3. He asked the grocer what is the price of tomatoes.

x 4. He asked the grocer that what was the price of tomatoes.

Question ID : 98958016093
Status : Answered
Chosen Option: 1

Q.20
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Spain and Italy have produced the (1) painters and sculptors because (2) fine
arts appeal more to the (3) an to the intellect. These countries have (4) very few
men of science in comparison (5) artists and poets.

SubQuestion No : 20
Select the most appropriate option to fill in blank number 1

#5 1. more greater
x 2. great

x 3. greater

W 4 greatest

Question ID : 98958016097
Status : Answered




l Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Spain and Italy have produced the (1) painters and sculptors because (2) fine
arts appeal more to the (3) an to the intellect. These countries have (4) very few
men of science in comparison (5) artists and poets.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 2

Ans X1 this
75 2. that
/5 3.what
J4. these

Question ID : 98958016098
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Spain and Italy have produced the (1) painters and sculptors because (2) fine
arts appeal more to the (3) an to the intellect. These countries have (4) very few
men of science in comparison (5) artists and poets.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 3

Ans « 1. imagination

x 2. creation
x 3. ambition
x 4. situation

Question ID : 98958016099

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Spain and Italy have produced the (1) painters and sculptors because (2) fine
arts appeal more to the (3) an to the intellect. These countries have (4) very few
men of science in comparison (5) artists and poets.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 4

Ans « 1. produced
x 2. presented
x 3. perplexed
X 4. prepared

Question ID : 98958016100
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.




Spain and Italy have produced the (1) painters and sculptors because (2) fine
arts appeal more to the (3) an to the intellect. These countries have (4) very few
men of science in comparison (5) artists and poets.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 5

Ans X1 for
x 2. by
J3.to
x 4. from

Question ID : 98958016101
Status : Answered
Chosen Option : 3

Q.25 Select the most appropriate passive form of the given sentence.

They were distributing food grains among the poor.

Ans x 1. The poor will be distributed among food grains.
( 2. Food grains were being distributed among the poor.
x 3. Food grains were distributed among the poor.

X 4. Food grains will be distributed among the poor.

Question ID : 98958016092
Status : Answered
Chosen Option : 2




